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No; distribution by the threshing floor itself is a 11 for 5791 only, for
he maintains that 72190, etc.

OVERVIEW

The X mx (in its attempt to prove that POAY? %95 MXWIn Povn) cited two
mn»a.The first Xn°°72 states X702 7350 D228 9222 >"wi anmo% apmm, and the
second XN»72 states 12 X102 ,°"'X2 N33 P19 2"'wa 73179 fpin. In addition there is
a NP12nn between YWI° 277 71772 X117 27 (who maintains that even 17712 72170 705
is Xn>7R7, nevertheless 1"712 77907 is 13277), and the 7120 (who maintain that even
1"7712 7370 7"AY is 11277, nevertheless 17712 17917 is RDPTIRT).
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And it is necessary to say that these two nin»m2 argue in the same np¥»n» that is

between °''172 7''1 and the 120
- “PON1Y 095 MNIYWIN PYYAT PT1RY NIOR TYI NN MNIA 7901 1Ha 97 INY INT

For if you will not agree to this (but rather maintain that both nMin»92 can agree
with either °"772 7"9 or the 1127), then in any case you chooses we can infer from

one of these NIN>72 that Po® o' wan Phyna.
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And there is an additional dispute between the two nin»12; for according to the

first Nn° "3, eating 79m in X0 is a N AP -
- %1329 NN NYYINY NPIN KNNT NNSNINT H10YIN NISINT 19 Y2

And certainly that 77290 n%98 (which is Xn>>71x7) will be a P for %m 9N,

! See “Thinking it over’ # 1.
% See ‘Overview’.
? The first X712 maintains (like >"972 7"9) that 17712 790 is 13277, so when that Xn*>72 states 723757 AP it is referring
to RN™IIXT 7170 (that we are 7%¥n from 7370 [which is 17712 112977] to XN>>IRT 72170, but not to 1°011°). The second
Xn»12 maintains (like the 13127) that 17312 7917 is XN»7R7, so when that Xn>°12 states 7237307 APIR it means 7770 (that we
are N1I73 P2 A movn [which is 13277 w910 to XN»TIRT 770, but not to 7°0RY).
* If we maintain that both mn»13 agree with *"972 "9 that 797 is 11277, then since the second Xn»12 states pM
M p12°m 2wl annaY, that evidently means that n1173 P12°n (which is 7170) is a 1om apin (for it cannot mean a
TP to 20 which is only 712777), and subsequently 2"w1 which is mentioned together with n111x P12 is also a [pTn
ponvh. If we maintain that both mn>13 agree with the 1127 that 7%1 is Xn»7KTA, then we can prove from the first
XN*72 which states X102 720 199X %222 2"w1 A2 apm that just like %7 n2°9% (which is Xn»R7) is a pin for
1on, similarly 3"w1 which is mentioned together with 7751 n2°2X is also a 1°0n1% AP
> The first Xn°™2 maintains that 71 N2X is 113777 (see footnote # 2) and nevertheless X" M0 751 N9°3X is a 7PN even
for RD»TIRT 0.
® See “Thinking it over’ # 2.
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which is only 233972 -
S:nnY APIN NN R XYYV N1DYIN 13907 M) PIIINT NP 153w XNY»923)

However the second Xn»=2 states that nimx Py, which is 210, is not a P
for 1o,

SUMMARY

The first Xn>»92 agrees with *"372 7" (that 131297 "'712 7%1) and we are n9vn from
79n to MmN in X0, and the second Xn»72 agrees with the 3127 (that 1"7r2 7on
XN>7X7) and we are not 77v2 from 73170 to 7397 in X>0.

THINKING IT OVER

mooIn states that it is necessary to say that the two mn»J2 argue in the npyonn
between 1127 *"172 1".” Seemingly this is obvious from the X 3; what is mpoIN
teaching us?'’

2. m»doIN mentions that since (according to the first XN»12) we are 77¥n in RO
from 1791 N9°OK to mMON, so ‘certainly we are 7PYn from XN™TIRT MmN to 0N
]J:ﬂ'{’.” It seems that the intention of the ™n1 °x%9Y, in NvOIN is to tell us that
according to the first Xn>12 we are 71°¥» from a (7%17) 13277 to a (7217N0) RNMIIRT in
X710 (since we maintain 123 7320 7°1° ¥12°D); however according to the second
XN>12 we are not 77¥n from a (7170) 13277 to a (7717) RNMIIRT in X0, Why was it
necessary for M90IN to mention the 727 NY°IRY 7RI K277 RNMIIRT 72170 N92IRT W)

177211

" The second Xn»12 maintains that 751 is 1"7713 RN»MXT (see footnote # 2), and m7N can be j12777.
¥ This X712 maintains that in *"X we are 3277 751902 7297 to XN™MRT 7197 but not in X™ 0, as opposed to the first
Xn™13, which maintains we are always mmnn 7291 to 720 in X90. The reason is because this second Xn»M2
maintains ©12° 7AW X? T W10 (see Par "7 0"w).
? See footnote # 1.
' See mmni K and (Maw MK p"a) XIN2 A
' See footnote # 6.
12 See 71 MIX prIX> D70.
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